| | | | BID RECAP | | | | | | | | | | | |
|-----------------------------|-------------------------------|--------------------------|-------------------------------------|-----------------------|----------------------|--|---|---|---|-----------------|--|--|--|--|
| CITY OF | | SOLIC | ITATION TITLE: | Slough Excava | ation, Concrete Demo | o and Nesting for La | s Colonias Park Proje | ct | | | | | | |
| Grand Junction | | | SOLICITATION NUMBER: IFB-4276-16-DH | | | | | | | | | | | |
| COL | ORADO | OPEN | PENING DATE: 9/13/2016 | | | | | | | | | | | |
| | | OPEN | PENING TIME: 3:30pm | | | | | | | | | | | |
| | | PROJ | ECT MANAGER: | Traci Wieland | | | | | | | | | | |
| | | BUYE | R NAME: | Duane Hoff Jr. | | | | | | | | | | |
| Company | Acknowledged Addenda 1 & 2 | Contractor's Bid Form | Bid Bond | Pre- Qualification | Base Bid Total | Add Alternate 1: Demo, Haul, and Place Existing Concrete Path | Add Alternate 2: Watson Island Slough Control Structure | Add Alternate 3: Seeding and Willow Poles | Add Alternate 4: Topsoil and Erosion Control Blankets | Comments | | | | |
| Colorado West Contracting | yes | yes | yes | yes | \$326,159.12 | \$4,680.00 | \$28,057.32 | \$39,500.00 | \$30,905.00 | up to \$600,000 | | | | |
| Con-Sy, Inc. | yes | yes | yes | yes | \$339,887.20 | \$1,600.00 | \$21,216.00 | \$104,380.00 | \$34,405.00 | | | | | |
| M M Skyline Contracting | yes | yes | yes | yes | \$467,931.60 | \$3,680.00 | \$21,044.40 | \$99,570.00 | \$50,378.00 | | | | | |
| MA Concrete Construction | yes | yes | yes | yes | \$579,509.40 | \$6,864.00 | \$42,517.82 | \$121,989.99 | \$54,133.52 | | | | | |
| Mountain Valley Contracting | yes | yes | yes | yes | \$384,979.55 | \$3,810.00 | \$17,488.60 | \$99,726.00 | \$26,941.80 | | | | | |
| United Companies | yes | yes | yes | yes | \$453,020.00 | \$2,600.00 | \$36,891.00 | \$165,880.00 | \$39,652.00 | | | | | |
| Reconciled Bid Tabul | aton | | | | | | | | | | | | | |
| Colorado West Contracting | yes | yes | yes | yes | \$396,080.12 | \$4,680.00 | \$28,057.52 | \$39,500.00 | \$30,905.00 | up to \$600,000 | | | | |
| Con-Sy, Inc. | yes | yes | yes | yes | \$233,167.20 | \$1,600.00 | \$21,216.00 | \$104,380.00 | \$34,405.00 | | | | | |
| M M Skyline Contracting | yes | yes | yes | yes | \$467,931.60 | \$3,680.00 | \$21,044.40 | \$99,570.00 | \$50,378.00 | | | | | |
| MA Concrete Construction | yes | yes | yes | yes | \$579,509.40 | \$6,864.00 | \$42,517.82 | \$121,989.99 | \$54,133.52 | | | | | |
| Mountain Valley Contracting | yes | yes | yes | yes | \$384,979.55 | \$3,810.00 | \$17,488.60 | \$99,726.00 | \$26,941.80 | | | | | |
| United Companies | yes | yes | yes | yes | \$453,020.00 | \$2,600.00 | \$34,291.00 | \$165,880.00 | \$39,652.00 | | | | | |
| Apparent Low: | | | | | | | | | | | | | | |
| Amount: | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | |

| Sloug | ough Excavation, Concrete Demmo and Nesting for Las Colonias Park Project IFB | | | l6-DH | Mountain Valley Contracting, Inc. | | | MM Skyline Contracting, Inc. | | | M.A. Concrete Construction, Inc. | | |
|-----------------|---|---|-----------------|--------------|-----------------------------------|--------------|---------------|------------------------------|--------------|---------------|----------------------------------|--------------|---------------|
| Bid Item No. | CDOT Spec. Ref. | Description | <u>Quantity</u> | <u>Units</u> | <u>Unit Price</u> | Total Price | <u>Totals</u> | Unit Price | Total Price | <u>Totals</u> | <u>Unit Price</u> | Total Price | <u>Totals</u> |
| | | Site Preparation | | | | | | | | | | | |
| 1 | | Mobilization/Demobilization/Bonding/Insurance | 1 | LS | \$18,640.00 | \$18,640.00 | | \$14,150.00 | \$14,150.00 | | \$90,943.60 | \$90,943.00 | |
| 2 | | Construction Survey/Stake/As-built | NA | NA | | | | | | | | | |
| 3 | | Trail/Pedestrian signage | 1 | LS | \$1,650.00 | \$1,650.00 | | \$3,300.00 | \$3,300.00 | | \$825.00 | \$825.00 | |
| | | | | | | Sub Total: | \$20,290.00 | | Sub Total: | \$17,450.00 | Sub Total: | | \$9,768.60 |
| | | Erosion Control and Care of Water | | | | | | | | | | | |
| 4 | | General Staging Area BMPs | 1 | LS | \$6,295.00 | \$6,295.00 | | \$6,100.00 | \$6,100.00 | | \$9,350.00 | \$9,350.00 | |
| 5 | | Care of Water Practices | 1 | LS | \$66,435.00 | \$66,435.00 | | \$75,700.00 | \$75,700.00 | | \$35,816.00 | \$35,816.00 | |
| 6 | | Haul Route Maintenance | 1 | LS | \$13,670.00 | \$13,670.00 | | \$9,000.00 | \$9,000.00 | | \$7,672.50 | \$7,672.50 | |
| | | | | | | Sub Total: | \$86,400.00 | | Sub Total: | \$90,800.00 | Sub Total: | | \$52,838.50 |
| | | Construction | | | | | | | | | | | |
| 7 | 201 | Clearing and Grubbing | 3 | AC | \$4,485.00 | \$13,455.00 | | \$8,660.00 | \$25,980.00 | | \$2,581.33 | \$7,743.99 | |
| 8 | | Excavation and transport to disposal areas | 28,976 | CY | \$3.80 | \$110,108.80 | | \$5.30 | \$153,572.80 | | \$8.65 | \$250,642.40 | |
| 9 | | Disposal area rough grading | 19,448 | CY | \$3.80 | \$7,392.40 | | \$5.00 | \$97,240.00 | | \$2.74 | \$53,287.52 | |
| 10 | | Selective sorting and stockpiling of alluvium | 1,972 | CY | \$7.50 | \$14,790.00 | | \$4.00 | \$7,888.00 | | \$9.20 | \$18,142.40 | |
| 11 | | Grading of riffles with coarse cobble alluvium | 1,904 | CY | \$10.25 | \$19,516.00 | | \$14.00 | \$26,656.00 | | \$8.50 | \$16,184.00 | |
| 12 | | Install coarse cobble riffle inlet for slough split | 26 | CY | \$30.45 | \$791.70 | | \$40.00 | \$1,040.00 | | \$46.03 | \$1,196.78 | |
| 12 | | Furnish and place 36" boulder | 573 | TONS | \$58.00 | \$33,234.00 | | \$57.00 | \$32,661.00 | | \$108.77 | \$62,325.21 | |
| 13 | | Backfill boulder with general alluvium | 67 | CY | \$12.80 | \$857.60 | | \$31.00 | \$2,077.00 | | \$32.62 | \$2,185.54 | |
| 14 | 202 | Miter, haul off, and dispose of 30" storm pipe | 170 | LF | \$13.50 | \$2,295.00 | | \$16.30 | \$2,771.00 | | \$8.45 | \$1,436.50 | |
| 15 | | Furnish and Install outfall structure for 30" storm pipe | 161 | TONS | \$51.45 | \$8,283.45 | | \$57.00 | \$9,177.00 | | \$115.88 | \$18,656.68 | |
| 16 | | Furnish and install non-woven filter fabric beneath boulder/riprap | 364 | SY | \$2.90 | \$1,055.60 | | \$1.70 | \$618.80 | | \$8.52 | \$3,101.28 | |
| | | | | | | Sub Total: | \$278,289.55 | | Sub Total: | \$359,681.60 | | Sub Total: | \$434,902.30 |
| | | Construction - Add Alternative | | | | | | | | | | | |
| | | Add Alternative: Demo, Haul, and Place Existing Concrete Path | | | | | | | | | | | |
| 17 | | Deconstruct concrete path | | CY | \$10.40 | \$2,080.00 | | \$8.40 | \$1,680.00 | | \$16.96 | \$3,392.00 | |
| 18 | | Transport/place concrete to disposal area | 200 | CY | \$8.65 | \$1,730.00 | | \$10.00 | \$2,000.00 | | \$17.36 | \$3,472.00 | |
| | | Add Alternative: Watson Island slough control structure | | | | | | | | | | | |
| 19 | | Excavate and transport to disposal area | 106 | CY | \$9.10 | \$964.60 | | \$19.00 | \$2,014.00 | | \$37.67 | \$3,993.02 | |
| 20 | | Furnish and place 36" boulder | | TONS | \$52.00 | \$15,600.00 | | \$60.00 | \$18,000.00 | | \$122.24 | \$36,672.00 | |
| 21 | | Furnish and install non-woven filter fabric beneath boulder | 132 | SY | \$3.75 | \$495.00 | | \$1.70 | \$224.40 | | \$7.17 | \$946.44 | |
| 22 | | Backfill boulder with general alluvium | 26 | CY | \$16.50 | \$429.00 | | \$31.00 | \$806.00 | | \$34.86 | \$906.36 | |
| | | | | | | Sub Total: | \$17,488.60 | | Sub Total: | \$21,044.40 | | Sub Total: | \$42,517.82 |
| | | Bio-engineering – Add Alternatives | | | | | | | | | | | |

| | Add Alternative: Seeding and Willow Poles | | | | | | | | | | | 1 1 |
|----|---|-------|----|------------|-------------|--------------|------------|-------------|--------------|------------|-------------|--------------|
| 23 | Furnish and install riparian native seed mix | 2 | AC | \$5,280.00 | \$10,560.00 | | \$5,170.00 | \$10,340.00 | | \$7,755.00 | \$15,510.00 | |
| 24 | Furnish and install wetland native seed mix | 2.6 | AC | \$6,160.00 | \$16,016.00 | | \$6,050.00 | \$15,730.00 | | \$8,376.92 | \$21,779.99 | |
| 25 | Furnish and install dormant willow poles | 3,500 | SY | \$20.90 | \$73,150.00 | | \$21.00 | \$73,500.00 | | \$24.20 | \$84,700.00 | |
| | | | | | Sub Total: | \$99,726.00 | | Sub Total: | \$99,570.00 | | Sub Total: | \$121,989.99 |
| | Add Alternative: Topsoil and Erosion Control Blankets | | | | | | | | | | | |
| 26 | Erosion Control Blankets | 3,500 | SY | \$3.60 | \$12,600.00 | | \$3.40 | \$11,900.00 | | \$3.90 | \$13,650.00 | |
| 27 | Topsoil Import and Grading | 583 | CY | \$24.60 | \$14,341.80 | | \$66.00 | \$38,478.00 | | \$69.44 | \$40,483.52 | |
| | | | | | Sub Total: | \$26,941.80 | | Sub Total: | \$50,378.00 | | Sub Total: | \$54,133.52 |
| | TOTAL SUM BID | | | | | \$529,135.95 | | | \$638,924.00 | | | \$716,150.73 |

| | CON-SY, Inc. | | Colorad | o West Constra | acting, Inc. | United Companies | | | | |
|-------------------|--------------|---------------|------------------------------|----------------------|---------------|-------------------|--------------|---------------|--|--|
| <u>Unit Price</u> | Total Price | <u>Totals</u> | <u>Unit Price</u> | Total Price | <u>Totals</u> | <u>Unit Price</u> | Total Price | <u>Totals</u> | | |
| \$26,500.00 | \$26,500.00 | | \$22,121.00 | \$22,121.00 | | \$154,000.00 | \$154,000.00 | | | |
| φ20,300.00 | φ20,300.00 | | <i>φΖΖ</i> , 1 <i>Ζ</i> 1.00 | <i>Ψ</i> ΖΖ, ΙΖ Ι.ΟΟ | | φ134,000.00 | φ134,000.00 | | | |
| \$1,000.00 | \$1,000.00 | | \$300.00 | \$300.00 | | \$100.00 | \$100.00 | | | |
| | Sub Total: | \$27,500.00 | | Sub Total: | \$22,421.00 | | Sub Total: | \$154,100.00 | | |
| | | | | | | | | | | |
| \$1,500.00 | \$1,500.00 | | \$29,750.00 | \$29,750.00 | | \$2,150.00 | \$2,150.00 | | | |
| \$36,500.00 | \$36,500.00 | | \$14,000.00 | \$14,000.00 | | \$23,000.00 | \$23,000.00 | | | |
| \$2,000.00 | \$2,000.00 | | \$3,750.00 | \$3,750.00 | | \$6,300.00 | \$6,300.00 | | | |
| | Sub Total: | \$40,000.00 | | Sub Total: | \$47,500.00 | | Sub Total: | \$31,450.00 | | |
| | | | | | | | | | | |
| \$1,500.00 | \$4,500.00 | | \$7,680.00 | \$23,040.00 | | \$1,550.00 | \$4,650.00 | | | |
| \$2.50 | \$72,440.00 | | \$6.50 | \$188,344.00 | | \$4.00 | \$115,904.00 | | | |
| \$0.90 | \$17,503.20 | | \$1.10 | \$21,392.00 | | \$3.00 | \$58,344.00 | | | |
| \$5.00 | \$9,860.00 | | \$2.84 | \$5,600.48 | | \$7.00 | \$13,804.00 | | | |
| \$8.00 | \$15,232.00 | | \$9.96 | \$18,963.84 | | \$7.50 | \$14,280.00 | | | |
| \$10.00 | \$2,600.00 | | \$75.00 | \$1,950.00 | | \$50.00 | \$1,300.00 | | | |
| \$65.00 | \$37,245.00 | | \$80.00 | \$45,840.00 | | \$71.00 | \$40,683.00 | | | |
| \$15.00 | \$1,005.00 | | \$60.00 | \$4,020.00 | | \$12.00 | \$807.00 | | | |
| \$10.00 | \$1,700.00 | | \$20.00 | \$3,400.00 | | \$34.00 | \$5,780.00 | | | |
| \$30.00 | \$4,830.00 | | \$80.00 | \$12,880.00 | | \$65.00 | \$10,465.00 | | | |
| \$3.00 | \$1,092.00 | | \$2.00 | \$728.00 | | \$4.00 | \$1,456.00 | | | |
| | Sub Total: | \$168,007.20 | | Sub Total: | \$326,159.12 | | Sub Total: | \$267,470.00 | | |
| | | | | | | | | | | |
| \$5.00 | \$1,000.00 | | \$17.00 | \$3,400.00 | | \$8.00 | \$1,600.00 | | | |
| \$3.00 | \$600.00 | | \$6.40 | \$1,280.00 | | \$5.00 | \$1,000.00 | | | |
| | | | | | | | | | | |
| \$10.00 | \$1,060.00 | | \$6.92 | \$733.52 | | \$9.50 | \$1,007.00 | | | |
| \$65.00 | \$19,500.00 | | \$85.00 | \$25,500.00 | | \$105.00 | \$31,500.00 | | | |
| \$3.00 | \$396.00 | | \$2.00 | \$264.00 | | \$8.00 | \$1,056.00 | | | |
| \$10.00 | \$260.00 | | \$60.00 | \$1,560.00 | | \$28.00 | \$728.00 | | | |
| | Sub Total: | \$22,816.00 | | Sub Total: | \$28,057.52 | | Sub Total: | \$36,891.00 | | |
| | | | | | | | | | | |

| \$5,500.00 | \$11,000.00 | | \$2,500.00 | \$5,000.00 | | \$3,400.00 | \$6,800.00 | |
|------------|-------------|--------------|------------|-------------|--------------|------------|--------------|--------------|
| \$6,300.00 | \$16,380.00 | | \$2,500.00 | \$6,500.00 | | \$3,300.00 | \$8,580.00 | |
| \$22.00 | \$77,000.00 | | \$8.00 | \$28,000.00 | | \$43.00 | \$150,500.00 | |
| | Sub Total: | \$104,380.00 | | Sub Total: | \$39,500.00 | | Sub Total: | \$165,880.00 |
| | | | | | | | | |
| \$4.00 | \$14,000.00 | | \$3.00 | \$10,500.00 | | \$4.00 | \$14,000.00 | |
| \$35.00 | \$20,405.00 | | \$35.00 | \$20,405.00 | | \$44.00 | \$25,652.00 | |
| | Sub Total: | \$34,405.00 | | Sub Total: | \$30,905.00 | | Sub Total: | \$39,652.00 |
| | | \$397,108.20 | | | \$494,542.64 | | | \$695,443.00 |